
Nr. mm x

mp2 4

m5 4

n1 2

g1 4

p4 2

p5 2

p9 4

STRIP 2.1m

Nr. mm x

a6 6

a7 2

a10 2

a13 4

m1 2

m3 2

m4 4

mp1 2

Plant Station
Nr. mm x

M002 4

M204 1

M206 1

M208 1

M209 1

M010 2

M011 2

M012 2

M013 1

M214 4

M215 1

M217 1

M219 1

M220 1

M221 2

M223 2

M032 4

M233 8

a1 68

a2 70

a3 2

a5 4

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

1

MB series  
Mini - greenhouse 

                                      Assembly instructions 

Model MB323 
Size: 90x50x97CM 

Model MB325 
Size: 90x50x169CM 

Model MB324 
Size: 90x50x133CM 

1090

885

1060

830

830

484

493

493

496

457

898

1060

850

404

404

1038

484

883

M6x10

M6

M6x15

ø 3.5x19

95 L x 50 W x 111/134 H cm     RW2605H
W

L

ø 3.5x25

ø 4x14

M4

ø 4x25

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 

The list of parts 
 # mm MB323 MB324 MB325 

 M001 730 4   

 M002 1090  4  

 M003 1450   4 

 M204 885 1 1 1 

 M205 700 1   

 M206 1060  1  

 M207 1420   1 

 M208 830 1 1 1 

 M209 830 1 1 1 

 M010 484 2 2 2 

 M011 493 2 2 2 

 M012 493 2 2 2 

 M013 496 1 1 1 

 M214 457 4 4 4 

 M215 898 1 1 1 

 M216 700 1   

 M217 1060  1  

 M218 1420   1 

 M219 850 1 1 1 

 M220 404 1 1 1 

 M221 404 1 2 2 

 M222 678 2   

 M223 1038  2  

 # mm MB323 MB324 MB325 

 M224 1398   2 

 M032 484 2 4 6 

 M233 883 4 8 12 

 a1 M6x10 56 68 80 

 a2 M6 58 70 82 

 a3 M6x15 2 2 2 

 a5 Φ3.5x19 4 4 4 

 a6 Φ3.5x25 4 6 6 

 a7 Φ4x14 2 2 2 

 a10 M4 2 2 2 

 a13 Φ4x25 4 4 4 

 m1 - 2 2 2 

 m3 - 2 2 2 

 m4 - 4 4 4 

 mp1 - 2 2 2 

 mp2 - 4 4 4 

 m5 - 4 4 4 

 n1 - 2 2 2 

 g1 - 4 4 4 

 p4 - 2 2 2 

 p5 - 2 2 2 

 p9 - 4 4 4 

 FLUFF - 1.4M 2.1M 2.8M 



2

2 

  Polycarbonate sheet 
# Size MB323 MB324 MB325 
A 416x707 3   

A2 416x1067  3  

A3 416x1427   3 
B 416x648 1   

B2 416x500  2  

B3 416x680   2 
C 845x13/210/13 2 2 2 
D 445x475 2 2 2 
E 445x730 2   

E2 445x1090  2  

E3 445x1450   2 

MB323 MB324 MB325 

A A 

C 

A2 A2 

C 

A3 A3 

C 

B 
A 

C D 

E 

C 

C 

D 

D 

B2 

A2 E2 

B3 

A3 

B3 

E3 

B2 

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

Nr. mm x

A2 3

B2 2

C 2

Nr. mm x

D 2

E2 2

E3 2

416x1067

416x500

845x
13/210/13

445x475

445x1090

445x1450

2 

  Polycarbonate sheet 
# Size MB323 MB324 MB325 
A 416x707 3   

A2 416x1067  3  

A3 416x1427   3 
B 416x648 1   

B2 416x500  2  

B3 416x680   2 
C 845x13/210/13 2 2 2 
D 445x475 2 2 2 
E 445x730 2   

E2 445x1090  2  

E3 445x1450   2 

MB323 MB324 MB325 

A A 

C 

A2 A2 

C 

A3 A3 

C 

B 
A 

C D 

E 

C 

C 

D 

D 

B2 

A2 E2 

B3 

A3 

B3 

E3 

B2 



33 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

M002 M208 M214 M215 M217 m1 m3 m4 mp2 a1 a2 a3

mm 1090 830 457 898 1060 - - - - M6x10 M6 M6x15

2 1 2 1 1 1 1 2 2 11 13 2

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 



4

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 

M002 M204 M206 M209 M214 m1 m3 m4 mp2 a1 a2

mm 1090 885 1060 830 457 - - - - M6x10 M6

2 1 1 1 2 1 1 2 2 13 13

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 



5

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

M010 M011 M012 M013 M032 M233 a1 a2 mp1 m5 g1 a13 p9

mm 484 493 493 496 484 883 M6x10 M6 - - - ø4x25 -

2 2 2 1 4 8 44 44 2 4 4 4 4

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 

5 

  Side wall & Roof & Staging 

              

# M010 M011 M012 M013 M032 a1 a2 M233 mp1 m5 g1 a13 p9 

mm 484 493 493 496 484 M6x10 M6 883 - - - Φ4x25 - 

MB323 2 2 2 1 2 32 32 4 2 4 4 4 4 

MB324 2 2 2 1 4 44 44 8 2 4 4 4 4 

MB325 2 2 2 1 6 56 56 12 2 4 4 4 4 

1 2 

3 4 

4 

3 

3 

2 

1 

M013 

M011 

M032 

M032 

M010 

M013 

M011 

M032 

M010 

M233 

M233 

M032 

E/
E2/
E3 



6

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

9 

  Extra Vent 

445 

183
 

243
 

D 
D1 

D2 

D1 

D2 



7

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 

M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3

mm 429 447 447 200 200 230 M6x10 M6 ø 3.9x8 ø 3.5x19 - -

x 1 1 1 2 1 1 2 6 4 4 2 2

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

3 

  Front 

                 

# M001 M002 M003 M208 M214 M215 M216 M217 M218 m1 mp2 a1 m4 a2 a3 m3 

mm 730 1090 1450 830 457 898 700 1060 1420 - - M6x10 - M6 M6x15 - 

MB323 2   1 2 1 1   1 2 11 2 13 2 1 

MB324  2  1 2 1  1  1 2 11 2 13 2 1 

MB325   2 1 2 1   1 1 2 11 2 13 2 1 

1 2 

3 

4 5 

6 

A/
A2/
A3 

M214 

C 

M214 

m1 M214 M214 

M001/
M002/
M003 

M001/
M002/
M003 

M216/
M217/
M218 

M208 

M215 

M216/

M217/

M218 

M215 

2 1 

M215 

M001/

M002/

M003 

3 

4 5 

6 

A/
A2/
A3 

M216/

M217/

M218 

M208 
m3 

M208 

M214 mp2 

a3 M001/

M002/

M003 

m4 M214 

M208 

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 

4 

  Rear 

                

# M001 M002 M003 M204 M205 M206 M207 M209 M214 m1 m4 mp2 m3 a1 a2 

mm 730 1090 1450 885 700 1060 1420 830 457 - - - - M6x10 M6 

MB323 2   1 1   1 2 1 2 2 1 13 13 

MB324  2  1  1  1 2 1 2 2 1 13 13 

MB325   2 1   1 1 2 1 2 2 1 13 13 

2 1 

3 

4 5 

6 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

A/
A2/
A3 

C 

M001/
M002/
M003 

M214 M214 

M001/
M002/
M003 

M205/
M206/
M207 

M209 

M204 

2 1 

3 

6 

4 5 

M214 
M214 

m1 

M209 

M214 mp2 

M001/

M002/

M003 

m4 
M214 

M209 

M205/

M206/

M207 

m3 
M209 

M001/

M002/

M003 

M204 

M205/

M206/

M207 

M204 

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 

10 

             

# M240 M241 M242 M243 M531 M245 a1 a2 a4 a5 m3 p3 

mm 429 447 447 200 200 230 M6x10 M6 Φ3.9x8 Φ3.5x19 - - 

QTY 1 1 1 2 1 1 6 6 4 4 2 2 

1 

2 3 

2 

M243 

M243 

M241 

M242 

D1 

M241 

M243 

a5 

M242 
M243 

a5 M242 

a4 

M245 

  Extra Vent 

4 

M531 

M240 

a1/a2 

5 

6 7 

p3/a4 

M240 

a1/a2 

m3 4 
5 

7 

M240 



8

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

6 

  Side wall & Roof & Panel 

M011 M012 

D 

M012 

mp1 



9
www.royalwellkassen.nl

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

M219 M220 M221 M223 p4 p5 a5 a6 a7 a10 n1 STRIP

mm 850 404 404 1038 - - ø 3.5x19 ø 3.5x25 ø 4x14 M4 - -

1 1 2 2 2 2 2 6 2 2 2 2.1M

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

7 

  Door 

               

# M219 M220 M221 M222 M223 M224 p4 p5 a5 a6 a7 a10 n1 FLUFF 

mm 850 404 404 678 1038 1398 - - Φ3.5x19 Φ3.5x25 Φ4x14 M4 - - 

MB323 1 1 1 2   2 2 4 4 2 2 2 1.4M 

MB324 1 1 2  2  2 2 4 6 2 2 2 2.1M 

MB325 1 1 2   2 2 2 4 6 2 2 2 2.8M 

1 2 

3 4 

5 

6 7 

M223/
M224 

M223/
M224 

M220 

M221 

M221 

B2/
B3 

B2/
B3 

M222/
M223/
M224 

FLUFF 

M222/
M223/
M224 

M220 

a7 n1 
a10 

M223/
M224 

M221 
M221 

M222/
M223/
M224 

p4 a6 

a6 

a6 

M219 

a3 

M219 

M220 

M222/
M223/
M224 

M219 

p5 
a5 

1 2 

3 

4 

7 

STRIP


